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Spring ‘Work—Cultivation of Oats.
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if it had been, it doubtless would not have
yielded more than 20 bushels per acre. Be-
tween each ploughing, the land was harrowed
lengthwise and croeswise of the furrow, by
which means the most perféct state of- tilth
was produced.. Two pecks of seed should be
sown per acre ; and it is useless to sow this
[rop upon land unless it be rich, and in a
M state of ‘cultivation, .

* CULTIVATION, OF OATS.

“There are few crops so easily cuitivated as
ut;, yet, to get a large yield, it requiges that
the Jand should be in the highest state of fertili-
ty. This crop is usually grown for the purpoees
¢ movcx\der, for which it is peculiarly adapted
_fu.Mnes. Of Jate years an, increased demand
pod. valae have been imparted to this grain,
&mgb the establishment of a great number of
outxm!!s A smal| proportion of the product of
ﬁmeembhshmenu is exported to England,
but the great bulk is consumed by the home
populauon, thus taking the. place of wheaten
four. In many points of view, oatmeal is a
more putritious article of diet than wheaten
flour, and as the crop is much more easily cul-
txpvtgl‘thnp, wheat, its consumption, as an arti-
ehﬁof food forman is a matter of much im-
pmlndéno the country. The oat crop 1oay
hpvery conmdembly increased, without mate-.
rially lessening the amount of wheat grown in-
the pravince ; and, therefore, whether it be con-
miied at home, or is exported, it is so much
real gein to the country. If 100,000 barrels
of oatmeal-flour be manufactured and consum-
ed in the.country, it is obvious that it would
be 2 means of increasing the exports.of wheat
lour 100,000 barrels, and would thus earich
the country, by providing a means for paying

the imports at the rate of £100,000 per an-
wm, * If- 2, saving of this kind can be made,
nd, besides, an equal quantity of oatmeal ex-
rted; both of which.are quite practicable, this

would then ecome on. the list of exports,
third . pomnee Much of the low
ervale: hnds of the country, that is quite too
ich and wet for winter wheat, would grow-
st abundaat crops of ots; aud if lands’ like
much more extensively bronght in-

yated ‘grasees, and occasionally broken up and
sown with two or more successive crops, and
the oats converted into oatmeal, a much
greater quantity might by that means be pro-
duced than what was supposed might be
done in the faregoing calculation.

On langd that is well-adapted for wheat and
clover, it would he-very unwise to sow a greatrr
quantity of oats than would be sufficient to
supply the horses and other stock on the
form, When oats are sown. a8 provender
upon. land that is not in a high sthte of fer-
tility; it is an excellent practice to.sow about
swenty-five per cent. of the quantity. of seed
with peas. The pess, having. broad leaves,
will extract much of their food from the at-
mosphere ; aud, besides, they will shadr “he
ground; to & considerable extent, and there-
by tend to increase, rather than Jessen, the
yield of onts. From ten to: twelve bushels
of a very superior quality, of peas may be-
grown per acre among the oats, without sen-
otisly affecting the average product of--the
latter crop, which ‘may be separated from the
oats by the use of riddles for the purpose;
or they may be. ground together, aud con-
sumed as food for stock. The average yield
of oats, in the best cultivated districts, does
not exeeed forty bushels per acre; and if
the whole wheat crop;of the country were
taken into.the calculation, it is highly proba-
ble that the average, extending over a num~

per acre.
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g and threep per- bushel, at
which average the crop is worth only about
£2 per acre, which will scarcely pay the rent
and cost-of cultivation. Those farmers, how-
ever,. cultivate this erop with a view of,
mak‘g‘a paying one, are not satisfied with
a les$ guerage than, fifty butiels per acre ;

upon correct principles, from seventy. to eighty-
bushels per acre are, in favourable years for
vegetation, produced. The. heaviest crop of
-oats of which we have any knowledge mm-
‘grown upon.a ten .acre. field, which had beoh

ber of years, would not exceed thirty bushels |}
During a period of eight or ten |f
years, the cash value of ‘oats does not exceed ||-

and by 'much farmers who cultivate thir lsnd ||
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n, aad seeded, down whh,v.he culti-

m pum.ge upvnrds of’ twenty: Yyears:




